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1. Let y = \B/(z-l-l}{/[mz-!- 113/(22 + 1). Then %l:mﬂ
.

2. Evaluste the following:

2z + 1 Z
(2) m+1]|2
ﬂﬂgg;%k”“+f”+~u+ym1= §
“;(I_E)a—_

3. The minimum value of \/[ﬂﬂﬂl‘c — %}1 + (sinx — %]3

withz e is R

4, Let L be the tangent line to the curve z° +¢* + 3z =1
at the point (0,1]. Then the area of the triangle formed

by L and the coordinate axes is C
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5. The selution of the integral equation
(%) = 1999 + f F()vas t dt
0

is given by f(z)=__ &

6. The length of the parabolic spiral »r = 4% (4 > 0)

that lies mnside the circler =4 is ¥

7. Suppose the temperature distribution of a ball ceniered
at the origin is

1600
t+a? +yf 422

T(z,y,2) = 2+ y* 4+ 22 <0
Then the direction {which is 2 vnit vector) of greatest

increase of temperature at the point (1,2,3) is ¥
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8. (14%) -
Let @ ={{z,1)l0 <y <tz >y and 2’ ~y? < 1}.

(a) Sketch the region .
(b) Evaluate the double integral

f f rysin{z? — y*) dxdy.
it
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. __{a.} Show that- tanf =

e ~ (b} Find the value of 2 that maximizes the angle 8.
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